Advanced Grammar Test
Area F Convention 2003

Section I: Pick the best answer.,

1. What case is used for the subject of an indirect statement?
A. nominative B. genitive C. dative D. accusative

2. What case is used to show duration of time?
A. nominative B, genitive C., accusative D. ablative

3. What case is used to show agent with the passive periphrastic?
A. nominative B. dative C. accusative D. ablative

4, What case patterns with the preposition coram? .

A. nominative B. genitive C. accusative |{D) ablative

5. Which word is a heteroclite?
A. canis, -is B. domus, -ds C. cornu, s D. res, re/

6. What principal part serves as the supine?
A. first B. second C. third D. fourth

7. Which principle part is also the perfect passive participle?
A. first B. second C. third D. fourth

8. In secondary sequence, what tense of the subjunctive would follow a perfect
tense main verb to w that the actions are happening at the same time?

A. present | B.jiimperfect C. perfect D. pluperfect

Section II: Identify the case of each italicized word. Choices are as
follow:
A. nominative B. genitive C. dative D. accusative E. ablative

9. Venit causa wvidendi Caesaris.

10. Centurio viris signum dedit.

11. Pauci canum a colle decucurrerunt.

12. Da mi basia mille.

13. Cicero est vir summae virtulis.

14. Caesare Bibuloque consulibus, Romae manserunt.
15, Longum fempus pueri lacrimaverunt.

16. Servavit res frumentarias.



Section II1: Identify the tense of each verb. Choices are as follow:
A. present B. imperfect C. future or future perfect D. perfect
E. pluperfect

17. amasset
18. duxere
19. abutere
20. currentibus
21. cepisse
22. raperet
23. dormies
24. sedeam
25. eralis

Section IV: Identify the case that should be used for the underiined
words. Choices are as follow:
A. nominative B. genitive C. dative D. accusative E. ablative

26. He was a hindrance to the barbarians.

27. Within one year we will move to the city.

28. One of the soldiers was killed in battle.

29. Crassus said that he would win the battle.
30. Crassus said that he would win the battle.
31. Marcus asked why the soldiers wouldn't fight.

Section V: Pick the best translation for the underiined word(s).
32. There is no one who doesn’t like a new toga.
A. nonamat B. nonamet C. nonamaret D. non amabat

33. The soldier wounded himself,
A. se B, jpse C. eun D. [psum

34, We have no water, :
A. nonagua B. satis aguae C. nibil aguae D. nec aqua

35. Murus erat tam magnus ut nemo eum ascendere posset.
A. to B. inorderto C. that D. as

36. Dormiverat guingue dies.
A. infive days B. on the fifth day C. within five days
D. for five days



37.

38

39.

40.

41,

42,

43.

44,

45.

46.

47.

48,

49,

Lixor viro est,

A. The wife is a man. B. The man is a wife.
D. The man's wife is.

. Milite necato, amicus lacrimavit,
A. Since the soldier was killed B. After the soldier was killed
C. The soldier killed him d. Both Aand B

Augustus was a man

of great talent.

C. The man has a wife,

A. magno ingenio B. magni ingeni C. magnum ingenium

D. Both A and B

Part of the legion was killed in battle.

A. pars legionis B. pars e legione C. pars legionum D. Both A and B

He came fo see the emperor.

A. visum B. advidendum C. videre D. BothAand B

We lived in Rome for

five years.

A. Romae B. Romam C. Romid D. Roma

He asked why the men had come.

A. venerant B. venissent C. veniebant D. venerint

Sequere me!

A. Foliow me! B. Iam to follow! C. Be followed by me!
D. Don't follow me!

The girl is loved by her mother.
A, matri B. matre C. a matre D. de matre

Misit legatos gui pacem peterent.

A. to B. who C. whom D. that

He persuaded the man to go to the police.

A. virum B. virf

Quam dufcis est!
A. how B. as

A. how B. as

C. viro D. vis

C. whom D. than

Caesar est callidior guam Brutus.

C. whom D. than



50. Achilles sold Hector’s body for gold.
A. aurum B. aurc C. aura D. aurorum

Tie-breakers: The following will only be scored in the event of a tie.
Pick the best answer.

96. Which of the following is NOT future tense?
A. memento B. amabo C. augenti D. futurus

97. Foreis a syncopated form for
A. futurus esse B. fleret C. factum est D. fuisse

98. Which of the following verbs does NOT take an ablative object
A. fruor B. careo C. potior D. pareo

99. What is the best translation for the underlined word in this sentence: Cum
nautae timerent, tamen ron fugerunt,
a. when b. since c¢. although d. with

100. What is the best translation for the underlined word in this sentence: Cum
/s haec dixit, milites clarmaverunt.
a. this b. thesethings c. she d. that



